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. Complete the conversions.
1,000 mm=1m 1,000 ml=11
5000mm=__Jm [ Iml=31
50000mm=__Jm [ Iml=301
500mm=__Jm 300ml= ]l
5500mm=""]m [ Jmt=031

W Complete the missing information

1 1 1
— m= mm —m= mm —m= mm
1,000 G 100 10

3l3l=_Jml 20+ [ Jml=2500 ml

W Compare the measurements using <, > or =

21 () 1500ml sot () 6000ml
28m O 280 mm 3700m O 37mm
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Cola is sold in bottles and cans.

=
4 330 ml 1.25 litres
I 48p £159

Alex buys 5 cans and 3 bottles.

She sells the cola in 100 ml glasses.
She sells all the cola.

How many glasses does she sell?

Alex charges 50 p per glass.
How much profit does she make?
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Ribbon is sold in 225 mm pieces.
Teddy needs 5 metres of ribbon.
How many pieces does he need to buy?

Teddy would like to make either a
bookmark or a rosette with his left over
ribbon. Which can he make?

To make 5 bookmarks you will
need:

1.2 metres of ribbon

1 pair of scissors

To make 1 mini rosette you will
need:

4 pieces of ribbon cut to 35 mm
A stapler
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Cola is sold in bottles and cans. Alex sells 54

glasses.
t; ) Alex makes
] 330 ml 125litres | £19 83 profit.
W 48p £1.59

Alex buys 5 cans and 3 bottles.

She sells the cola in 100 ml glasses.
She sells all the cola.

How many glasses does she sell?

Alex charges 50 p per glass.
How much profit does she make?

Ribbon is sold in 225 mm pieces.
Teddy needs 5 metres of ribbon.
How many pieces does he need to buy?

Teddy would like to make either a
bookmark or a rosette with his left over
ribbon. Which can he make?

~

To make 5 bookmarks you will
need:

1.2 metres of ribbon

1 pair of scissors )

-
To make 1 mini rosette you will

need:
4 pieces of ribbon cut to 35 mm
\A stapler

J

Teddy buys 23
pieces of ribbon.

Teddy will have
175 mm left over.

A bookmark needs
240 mm, and a
rosette needs 140
mm so he can
make the rosette.




